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QUESTION 1
Which statement best describes SOA governance continuous improvement?

A. SOA governance continuous improvement enables your organization to define and deploy your own focused and
customized SOA initiative.

B. SOA governance continuous improvement enablesyour organization to define and deploy your ownfocused and
customized SOA governance model.

C. SOA governance continuous improvement enables your organization to make sure that Services are reused.
D. SOA governance continuous improvement enables your organization to achieve ROI on you SOA initiative.

Correct Answer: A

QUESTION 2
Which statement describes how complexity, effort, and benefit are used In the SOA Project Selection Framework?

A. Complexity measures the number of integrations that the projectwould require. Effort measures the amount of effort
that existing shared services would save for the project. Benefitmeasures the amount of additional revenue that would
result from the project, A top project for inclusion would have a larger benefit and effort with a lower complexity.

B. Complexity measures the number of integrations that the project would require. Effort measures the amount of effort
that existing shared services would save for the project. Benefit measures the business benefit that would be delivered
by the project. A top project for inclusion would have a larger benefit and effort with a lower complexity.

C. Complexity measures the technical complexity of the project. Effort measures the level of effort required to complete
the project. Benefit measures the amount that the project would advance the SOA maturity of the organization. A top
project for inclusion would have a larger benefit than the effort.

D. Complexity measures the technical complexity of the project. Effort measures the level of effort required to complete
the project. Benefit measures the amount of business benefit that would be delivered by the project. A top project for
inclusion would have a large benefit and lower complexity and effort.

E. Complexity measures the technical complexity of the project. Effort measures the level of effort required to complete
the project. Benefit measures the amount of business benefit that would be delivered by the project. A top project for
inclusion would have a large benefit and an effort that is lower than the complexity.

Correct Answer: B

QUESTION 3

After having success in your SOA initiative across a single line of business, management wants you to deploy SOA
across the enterprise in a cost effective and expedited manner. Your primary concern is that not all of your
organization\\'s line of businesses has enough developers with the knowledge and experience to develop Services.
Which course of action do you apply to address this concern?

A. Allow each line of business to hire external consultants to develop Services
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B. Implement a shared resource service factory
C. Send all line of business developers on a service engineering course
D. Implement an enterprise service factory

Correct Answer: A

QUESTION 4

A project manager has come to you as the SOA architect asking why his Service Candidate has to be justified before he
can build it. What two reasons are you going to give that it is important that Services must be justified before they are
implemented?

A. The Services must be implemented by a single team and the Justification process prevents otherteams from creating
Services.

B. SOA Services incur greater costs over their full lifecycle than application components and therefore must justify the
extra investment before they are built.

C. No control over Service creation can result in Service proliferation resulting in a complex and inconsistent SOA that is
difficult to manage and maintain.

D. The release of the Service needs to be co-ordinated with other projects and therefore his project will not be delivering
it because the timescales are incompatible.

Correct Answer: CD

QUESTION 5

Choose the correct words in order to complete the blanks in the following statement. Traditional requirements gathering
has been -focused whereas SOA requirements are focused

A. data, service

B. project, enterprise

C. single-use, multi-use
D. technology, business

Correct Answer: C
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